B H RN SN
m b4
\In 7% 0 SR

It

R
No. ABCDE
1 sokdork
2 kkkorok
3 kkokorok
4 xkrkk
5 skekokorok
6 kkokkk

I) —_
F 1

Fl
i
%
i
MR

DO WN =S

B Rumba
No.

SOOI wWwN —
—oOONOCIA~W>
Ao —=Ciw N o

?té“
op
il
—+

= U
&~ O X0 oul

N = e

RIEMBRERY Y ABERKE

EH TRY—FMHE

7 57> D]

20255 wiIHARAER

CEUH BAMAR—YEH

2025%5H4H

BERER—ILIL—LET Y

A= 1E &E

B= 2 #B& &EfT

C= 3 KZE B

D= 48 TZEF

E= 5 %% U0A#
¥ E

P & B #

ABCDE 3t i & ') —4%—
sk 10 1 P AR Bz
*kkkk 10 1P FLU =H
wokk 10 1 P BH {E—EB
wokkk 10 1 P HE Bk
wepkk 10 1 P 45480 EHR
sorkkk 10 1 P £ #E-
=10
RO

2— ACE
B2 1L B&
—H H-F
{E—ER H A
DS iE
EHH AN
1":.\— :
C D E IEfz

2 31 3

3 5 4 4

5 4 5 5

4 2 2 2

6 6 6 6

11 3 1

P &5t AL 11

3 6 3

5 9 4 x

j—_
£t
{ HF
=T
EE
BEF
=<5

=R iv2
% 341
F 44
E 54
£ 246
%64
14

7B Pasodoble
No.

SOOIk wWwhN —

—OoONPM~OCIW >
LWwo— 1=~ N
— O NN PO LWO
— O NwWwWOo N~DT

g5z

—ONPA~OCTW



o Ol A~ W

[ 72
%14z
g 241
% 34
F 44
¥ 54
%6

— O N O1

—oN B~

= O0ON O

RALHER

BE

awnN=5H»odo

H# =
Fié 0 |
9,
I

K3

mH
E

i)
H

aFt

m=
PSS
Bz
—H
E—ER
&EA

IN— kF—

=R
LB
H¥
=1E)
B L

<5
ES
e
{HF
=1
BEF

BHES
11106026
11097221
11107503
11107478
11117763
11114006

U000

35

BER
AR
BER
BER
BER

BB F#k
BNE C#k

/

TR



